x3—9x=0

x(x-3)(x+3)=0

x=03,-3

So P(—3,0) Q(0,6) R(3,12)
b) Area enclosed by 2 curves

0 3
=f x3—7x+6—(2x+6)dx+f2x+6—(x3—7x+6)dx

. 8 81 81 81
=fx3—9xdx+f Ox —x3dx = — 4 — = —
—3 0 4 4 2

a) e *=¢*-3

4 = ¢?* — 3e”* and hence result.
b) Letu=e* u*—3u—4=0

u-4Hu+1)=0

u=+4-1
e* = 4 or e* = —1 (no solution)
x =lIn4

c) Area=fom4 4e~* —(e* — 3)dx = [—4e *—e* + 3x]™

= —4e M_gint | 3in4 — (—4e%—¢?)

1
=—4x-4-—4+31n4+5=31n4

V= nfolxz dy = nfolezy dy
n n
= E[ezy]é = E(ez —1)
We have to find the sum of two volumes
V= nfolyz dx+7rf12y2dx
1 2

2
=nfx4dx+nf(x—2)4dx=?
1

0

Yo

2
a) V=7rj'(8—x2)2 —x4dx=170§
-2

b)V=rnf ydy+nf 8-ydy=16



